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LUialiUw LOUOWw
clear

clc

close all

£t=1:2:500;

wmAAmO\o.omv + ((50/1.0025)*sin(t)) + (((50*%0.05)/1.0025)*cos(t)) -
tm=0:2:500;

ym= ( (1000) - (800*exp (-0.05*tm) ) )

T=[t, tm]

Y=[y, ym]

plot(T,Y, 'green')

grid on

grid minozr

xlabel('T (min) ')

vliabel('V(licre) ')

col header={'t (min)','V(Litre'};

xlswrite ('odevbesdata.xlsx', [T(:),¥Y(:)], 'vexiler', 'A2");
xlswrite('odevbesdata.xlsx',col _header, 'veriler', 'Al’);

Command Window

(802.49*

|

I

exp (-0.05*t)))

Columns 481 through 452

1.0000 1.0000 1.0000 1.0000 1.0000 1.0000 1.0000
Columns 493 through 501

1.0000 1.0000 1.0000 1.0000 1.0000 1.0000 1.0000

1.0000

ULy

0

1.0000

1.0000

1.0000

1.0000
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commandwindow

clear
clc
close all
syms m t

ansBdsolve ('Dm+0.025*m=50+50*sin (t) ', 'm(0)=150")
£50:0.5:450

3 tn=subs (ans, t)

9- plot(t,tn)|
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b .—.. window M " : Ll 1_|l 1 lll |41 l“lh ‘h““
New to MATLAB? See resources for nglngﬁtaned.

445.5000 446.0000 446.5000 447.0000 447.5000 448. 0000

[ 150, 2000 - (2000*1601~(1/2)*cos(atan(1/40) + 1/2))/1501‘- (2
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